Дата: 06.11.2020
1-2 уроки
Группа: 11 ЗИО
Тема: Описание человека (внешность, национальность, образование, личные качества, профессия).
  Преподаватель: Дворникова Ирина Анатольевна dvornikova2283@gmail.com  (до 17 часов в день занятия)
Задание 1: Повторить слова по теме «Описание внешности».
http://englishinn.ru/appearance-ili-kak-opisat-vneshnost-na-angliyskom-yazyike.html
Задание 2:  Законспектировать правила чтения буквы i. Кратко! Как мы это делаем в классе!
https://may.alleng.org/mybook/2read/I.htm
Задание 3:  Прочитать слова на это правило.
Sitting, rice, daffodil, drive, milk, brick, girlish, like, lime, dirt, picnic, spice, disco, strip, pike, litter, sir, tie, ice, wire, to invite, skirt, to divine, third, distinct, district, to dislike, ill, violin, written, tiger, tidy, ticket, giant, history, Iceland, wise, insect, spring, tile, final, mist, science, tired, birch, fire, Ireland, admire.
Задание 4:  Записать слова в буквенном выражении, данные в транскрипции. 
[siks]    [pai]   [mis]   [dɜ:t]   [laif]    [laɪə]   [bɜ:d]   [raid]   [fain]   [faɪə]
Задание 5:  Прочитать и перевести текст “Find the criminals” (устно). (см.ниже)
[image: C:\Users\9734~1\AppData\Local\Temp\Rar$DIa0.788\текст.jpg]

Задание 6:  По аналогии с прочитанным текстом “Find the criminals” сделать описание двух человек: 1- белый мужчина, 2- темнокожая женщина. (письм.)
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Find the criminals using the descriptions:

a) He is a white male. He is in his thirties. He has got an oval face, narrow
brown eyes, a broad forehead, short dark hair and gbushy beard. He prefers
to wear casual clothes, such as sweaters, jeans and trainers,

b) She is a white female. She is about25 years old. She is rather beautiful. She
has got an oval face, big eyes, big inouth, snow-white teeth and rich
shoulder-length brown hair. She also has a charming smile.

¢) He is a white male. He is in his sixties. He has got a square face, blue eyes, a
broad forehead, long nbse,big ears, thin lips and short grey hair. He prefers
to wear formal clothes, such as suits and ties.

d) He is a white male. He is.in his fifties. He has got a round face, big eyes and
thin lips. He is almost bald. He is short-sighted. That’s why he wears
glasses. He always wears a suit.

€) He is a white male. He is in his forties, He has got narrow eyes, a big nose,
big ears, rich short dark hair and bushy moustache. He usually wears formal
clothes.




